Name: Date:

Multiplying by 10, 100 or 1000 - missing factor
Find the quotient:

1000 x = 803000 2 x 1000 = 637000
3 x 100 = 14600 9 x 100 = 9600

5 1000 x = 855000 © _______ x 948 = 948000
n x 947 = 94700 8 x 1000 = 505000
9 1000 x = 654000 " x 100 = 78400
1 580 x = 580000 12 x 1000 = 191000
1) x 669 = 6690 9 431 x = 431000
1000 x = 704000 ~ 10x _____ = 2040
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Name:

Date:

Multiplying by 10, 100 or 1000 - missing factor

Answers

" 1000 x 803 = 803000

» 146 x 100 = 14600

5 1000 x 855 = 855000

n 100 x 947 = 94700

9 1000 x 654 = 54000

580 x 1000

580000

13) 10 x 669 = 6690

% 41000 x 704 = 704000

2 637 x 1000 = 637000

4) 96 x 100 = 9600

© 1000 x 948 = 948000

s 505 x 1000 = 505000

0 784  x 100 = 78400

12 19] x 1000 = 191000

4) 431 x 1000 = 431000

v 10 x 204 = 2040
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Name: Date:

Multiplying by 10, 100 or 1000 - missing factor
Find the quotient:

J x 98 = 98000 (03X = 7630

) ‘807 = go7o " 1000 X = 663000
) 686 x _ sasooo " 1000 X = 715000
) Y 10 = 8900 : x 1000 = 483000
) x 1000 = 748000 ~ ——— * 718 = 718000
" 1000 x - 682000  ———— X 115 = 115000
2 x 1000 = 127000  ——— X 1000 = 509000
N « cgo < caao00 " x 1000 = 220000
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Name: Date:

Multiplying by 10, 100 or 1000 - missing factor

Answers

» 1000 x 98 = 9goo0 763 x 10 =7630

3) 'IO % 807 = BU?U 9 1000 x 663 = 663000

® 1000 x /715 = 715000

® 686 x _ 1000 686000

» 890  x 10 = 8900 » 483  x 1000 = 483000
0 748 x 1000 = 748000 " — oo * 718 = 718000
1000 x 682 = 682000  —200 x 115 = 115000

w 509 x 1000 = 509000

W 127  x 1000 = 127000

220 _
® 1000  x g89 = 689000 " x 1000 = 220000
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